SPANNING TREES Checkpoint
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Draw two possible spanning trees for each of the three graphs above, one drawn without lifting your pencil, and one drawn where you must lift your pencil. 

	Graph I Spanning trees


	Graph II Spanning trees
	Graph III Spanning trees



	1. Could a spanning tree be a Hamiltonian Circuit?  Why/Why not?  Justify your answer.  


	2. Could a spanning tree be a Hamiltonian Path?  Why/Why not?  Justify your answer.  



	3. Draw a spanning tree that would be neither a Hamiltonian Circuit nor a Hamiltonian Path.  


	4. An algorithm is simply a list of instructions that allows a solution to be found.  The instructions must be clear enough so that anyone could follow them.  One possible algorithm for drawing a spanning tree from a connected graph would be:  

(1) Find any cycle in the graph

(2) Remove one of the cycle’s edges

(3) Repeat this procedure until there are no cycles left.

Could you come up with another algorithm that would create a spanning tree from a connected graph by adding vertices and edges from given information?
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